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QUESTION 1

What HDFS replication factor can be used with Block Volumes to optimize cost?
A3

B.1

C. 4

D.2

Correct Answer: D

QUESTION 2

Which two options are valid when configuring health check policies in Oracle Cloud Infrastructure (OCI) Load
Balancing?

A. FTP level health checks
B. TCP level health checks
C. UDP level health checks
D. HTTP level health checks

Correct Answer: BD

QUESTION 3

You\l've spun up a GPU instance with the standard OEL linage (GPU version) from the console network on Oracle
Cloud Infrastructure (OCI).

What action do you need to do In order to be able to visualize your desktop remotely?
A. Install Open MPI for distributed GPU access.

B. Install a desktop and a VNC server.

C. Install NVIDIA drivers.

D. Open a remote serial console.

Correct Answer: C

QUESTION 4

Which Statement Is NOT correct?
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A. Oracle Data Science is augmented with Al VM for Data Science.
B. Oracle Data Science Is not excluded from Universal Credit.

C. Oracle Data Science can integrate with Oracle Function.

D. Oracle Data Science does not support per second billing.

Correct Answer: C

QUESTION 5

A file system is built using two BM.Standard2.52 Compute shapes for File servers. On each file server, one 25 Gbps
(3125 MBY/s) NIC/network card is used to connect to 10 Block Volumes of 1TB each (max. 480MB/s per volume) and
other 25 Gbps NIC Is used for sending/receiving data to/from client nodes.

File system client instances which mount the file system are provisioned using VM.Standard2.16 Compute shapes.
(Network bandwidth: 16.4Gbps(2050 MB/s))

What is the max aggregate 10 throughput (theoretical) of the file system?
A. 6250 MB/s
B. 4800 MB/s
C. 3125 MB/s
D. 9600 MB/s

Correct Answer: D
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